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Al byusy 8
7 A=(x+1)"+3(x+1) ; A= (x+1)(x+1) +3(x+1) ; A=x241242xxx1+3x+3
A=x+1+2x+3x+3 ; A=x45x+4.

wlale plan A G tall a2
7 A= (x+1)1+3(x+1) ; A= x+1)(x+1) +3(x+1) ; A= (x+1)[(x+1)+3] ; A=(x+1)(x+1+3)
» A=(x+1)(x+4).

s Ja 3

7 (x+1)(x+4)=0 ; x+1=0; x= -1, x+4=0; x = 4,
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1. AB+BC=AC
2. AD+AB=AC
AD+ED=0
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A S bl by 50 1
» A= (x+3)2+ 4(x+3) ; A= (x+3)(x+3) +4(x+3) ; A=x?+3%+Dxx3+4x+12
7 A=*+9+6n+4x+12 ; A=x?+10x+21.

Gelale plia A B el Llad 2
A = (x+3)2 + 3(x+4) ; A= (x+3)(x+3) +3(x+4) ; A= (x+3)[(x+3)+4] ; A=(x+3)(x+3+4)
> A=(x+3)(x+7).

llilaadl Ja .3
(x+3)(x+7)=0 ; x+3=0 ; x= -3 . x+7=0 ; x = -7.
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A < X2 3 x%+10x+215 %7 ; 10x+21Sx%-x? ; 10x+2150; 10xS-21 ; ﬁ% :
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